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A, B and C are partners of a firm, sharing profits and losses in the
ratio of 4:3:2. Balance sheet of the firm as on 31st March, 2017 was
as under:

' Balance Sheet as on 31-3-2017

Liahilities Rs. Assets Rs.
Capital: Building 60060
A 80000 | Machinery 80000
B 5000C | Furniture 30000
C BCO0C | Stock 70000
General Reserve 36000 | Debtors 40000
P&L Alc 18000 | - B.D.Res.- 2000 33000
Creditors 3000C | Bills Receivable 12000
Bank Loan 36000 | Cash 20000
310000 ' 310000

'D' entered in the firm on the above date. Conditions are as under:;
New profit sharing ratio will be 5:4:3:2.
Goodwill is valued at Rs. 63000, which should be recorded fully
before admission but after admission it is to be written off. '
Assets are revalued as under:
Building Rs. 80000
Machinery  Rs. 75000
Furniture Rs. 20000
10% Bad debt reserve on Debtors is to be maintained.
D will bring Rs. 70000 as his capital.
Prepare necessary account from above information.

OR
Write note on:
Treatment of goodwill on Retirement.
New profit sharing ratio after retirement of a partner with suitable
illustrations.

L, M & N partners in firm. They decided to dissolve the firm on 31-3-2017.

Their balance sheet as on that date was under:;

Liabilities Rs. Assets Rs.
Creditors 20000 | Debtors 10000
General reserve 15000 | Stock 15000
L's Capital 50000 | Bank 30000
M's Capitai 40000 | Investments 20000
N's Capital 30000 | Land & Building 80000
155000 155000
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Assets and liabilities were disposed off as foflows:
'L took the investment at an agreed value of Rs. 19000.
Other assets realised as under;

Land & Building Rs. 90000
Debtors ‘Rs. 9000
Stock Rs. 14000

The Creditors were paid Rs. 19000 in full settlement of their account.
Expenses of dissolution amounted to Rs. 2000.
You are required to give ledger accounts to close the books.

. OR :
Why is a partnership firm converted into a joint stock company ? Give.
entries in the books of the firm on such conversion.

Ram, Shyam and Ghanshyam are partners sharing profit and losses
in the ratio of 3:2:1 respectively. On 1st April, 2016 they decided to
dissolve the firm.

Balance Sheet as on 1st April, 2016

Liahilities Rs. Assets Rs.
Capital AJc: Sundry Debtors 47000
Ram 24000 Cash 8000
Shyam 14000
Ghanshyam 5000 43000
Creditors 8000
Bank loan 4000
55000 55000
Assets realised following installments:
First Installment Rs. 8000
Second Installment Rs. 13000
Third Instaliment Rs. 18000

Dissolution expense Rs. 4000
Prepare a statement showing piecemeal distribution of cash as
per surplus capital method.
OR

Write a detail note on Types of Share and Share Capital.

Prepare a Horizontal Balance Sheet of the company as per schedule-Vi

and calculate:
Capital Employed
Net Working Capital
Owner's Fund

Particular Rs. Particular Rs.
Equity Share Capital | 300000 | P&L Afc (credit) 150000
t Stock 177790000 : Creditors 35000
Cash 8000 | Bills payable 15000
Debtors 45000 | Unpaid salary 5000
Prepaid Insurance 11000 | Goodwill . 160000
Interest not received 2000 | Land & Building 350000
Reserves 200000 | Furniture 80000
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Bank loan : 300000 | Investments in

Bank overdraft 55000 1 shares of TCS
Workmen profit Ltd. 200000
sharing fund 25000 | Investment in
Workmen Accident Govt. securities 45000

Compensatien. Fund 356000

OR

Explain in detail 'Step to be considered while reading to account with
illustration'. '

Prepare a Balance Sheet of a Company in accordance with companies
Act, 1956 with imaginary figures.

OR
Write note on:
Maximum Loss Method.
Limitation of Balance Sheet.
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